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1 [dtiEE 1,398 380 1,018 | 1 [#LiE™H 4,296 2,442 1,854 |1 [FRERX 33 5 28
2 [FFE 108 9 99 2 & 52 8 44 2 |FRR 111 16 95
3 [5FE 108 24 84 3 [Fhimth 21 4 17 3 |BX 1,041 422 619
4 |ERE 130 34 96 4 |BEH 322 91 231 4 | FERX 4,137 1,263 2,874
5 AR 49 7 42 5 )l 143 68 75 5 | XEHERK 349 101 248
6 [LLFzE 47 11 36 6 [tEERE™ 28 2 26 6 [BEEREKX 1,572 699 873
1 |RER 152 25 127 RE = 774 292 482 ETETSS 2,137 659 1,478
8 |RE 237 31 206 8 |=Zh 1,211 436 775 8 IERX 86 47 39
9 [HEARE 463 56 407 9 | K 5,146 3,294 1,852 | 9 [SRIIX 299 127 172
10 [HEEE 202 41 161 10 [3Rd 39 13 26 10 [HERX 48 18 30
1 [BEE 428 74 354 |11 [fETh 141 46 95 11 [ KARX 321 98 223
12 |[FER 1,164 224 940 |12 |Eth 67 16 51 12 [{HHAX 512 120 392
13 | B4R 484 85 399 13 (L& 534 308 226 13 X 1,881 831 1,050
14 [#=JIE 516 124 392 14 [)IlOH 19 10 9 14 [FEFX 472 192 280
15 [FiRE 360 90 270 |15 [\FEFH 47 17 30 15 (&2 457 127 330
16 [EILE 145 17 128 |16 [1BAEST 94 10 84 16 [EBEX 2,194 815 1,379
17 |[BIIE 57 13 44 17 |&iRth 69 32 37 17 [k 540 156 384
18 |fBHE 52 9 43 18 [Z4ETH 6 1 5 18 [FIIX 104 77 27
19 [ILBE 384 75 309 19 |—= 5 1 4 19 [#RIEX 455 153 302
20 | EHE 180 35 145 20 |#A™H 21 4 17 20 [FEX 108 23 85
21 [IFE IR 274 46 228 |21 [J)\Eth 3 1 2 21 [RIX 230 55 175
22 [ERMEE 492 95 397 |22 [BEREIIH 3 3 0 22 |BfiX 519 228 291
23 [BEHE 153 23 130 |23 |[me@ATH 19 2 17 23 IR 430 153 277
24 [=F 8 279 24 255 |24 [IEERTH 11 1 10
25 |HER 241 43 198 | 25 |[EBi&mH 11 0 11
26 |ARAF 101 19 82 26 [B=ET 1 0 1
27 | KR AF 245 48 197 |27 |BAEH 0 0 0
28 |[EER 91 9 82 28 |[ERH 70 18 52
29 [ =ERER 243 27 216 |29 |BEh 20 1 19
30 |F0FRILIE 516 174 342 30 |E&mh 28 11 17
31 [ERE 34 7 27 31 |E%0mh 24 3 21
32 |BRE 103 21 82 32 |# ™ 462 91 371
33 [FALLE 65 14 51 33 |ETHT 32 4 28
34 [[LER 196 38 158 |34 [&RH 98 25 73
35 [lLOE 137 22 115 | 35 |4 B 42 6 36
36 [EER 96 19 77
37 [BIE 180 46 134
38 [BER 202 41 161
39 (SR 80 12 68
40 |fER R 2,157 1,065 1,092
4 [EER 64 11 53
42 | RIBE 183 49 134
43 |FERIR 219 49 170
4 (K8 136 44 92
45 [FIFIE 106 22 84
46 EEIRBE 215 37 178
47 |hfEIR 1,562 589 973
15,034 | 3,958 | 11,076 13,859 | 7.261 6,598 18,036 | 6,385 | 11,651
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BRI 15034 | 3958 | 11076 | HEZIEMKRROBEEEK
RErERET | 13,859 | 7,261 6,598
16,016 B=E
YAl X 18,036 | 6,385 | 11,651
&t 46,929 | 17,604 | 29,325




